Math II-Quadratic Equations
So far we have solved by:
(1) Completing the square
(2) Factoring

Today: Solve by Graphing
Ex \#1 $x^{2}+2 x-3=0$ is an EQUATION $x^{2}+2 x-3=\stackrel{\downarrow}{y}$ is a function
$\Rightarrow$ Graph the function and where $y=0$ (or the $x$-intercept) are the solutions (if any)

To Graph $x^{2}+2 x-37 y$ first
complete the square:

$$
\begin{aligned}
& \left(x^{2}+2 x+1\right)-1-3=y \\
& (x+1)^{2}-4=y \\
& x^{2}+2 x-3=0 \\
& \text { Vertex }(-1,-4) \\
& \text { open } \\
& \begin{array}{c}
(1)^{2}+2(1)-3 \stackrel{?}{=} 0 \\
1+2-3=0
\end{array} \\
& (-3)^{2}+2(-3)-3 \stackrel{2}{=} 0 \\
& 9-6-3=0
\end{aligned}
$$




Solve by Graphing
First $\rightarrow$ graph by hand $\&$ state the solutions/roots/zenves/answers.
THEN Check on your GC
(1) $Q=x^{2}+6 x-2$
(2) $O=3 x^{2}-12 x+1$
(3) $0=-2 x^{2}+8 x-3$

As a group:
Answer (on your board/table)
Pg. 215 ( 152 Pg. $215 \# 1+2$
\#4 ace $\Rightarrow$ use your calculators!!
$\rightarrow$ sketch the graph from your calculator $\checkmark$ put answers exact to 3 dec .


$$
\begin{aligned}
& \Rightarrow\left(a x^{2}+b x\right)+c=0 \\
& \frac{a}{a}\left(x^{2}+\frac{b}{a} x+\left(\frac{b^{2}}{\frac{a a^{2}}{2}}\right)-\frac{a b^{2}}{4 a^{2}}+C=0\right. \\
& a\left(x+\frac{b}{2 a}\right)^{2}-\frac{b^{2}}{4 a}+c=0 \\
& \begin{array}{r}
4 a \\
+\frac{b^{2}}{4 a}-c+\frac{+b^{2}}{4 a}-c
\end{array} \\
& \frac{d\left(x+\frac{b}{2 a}\right)^{2}}{\not a}=\frac{\frac{b^{2}}{4 a}-c}{\frac{a}{1}} \\
& \sqrt{\left(x+\frac{b}{2 a}\right)^{2}}=\sqrt{\frac{b^{2}}{4 a^{2}}-\frac{c}{a} \cdot 4 a} \\
& x+\frac{b}{2 a}= \pm \sqrt{\frac{b^{2}-4 a c}{4 a^{2}}} \\
& -\frac{b}{2 a}-\frac{b}{2 a} \\
& x=\frac{-b}{2 a} \pm \frac{\sqrt{b^{2}-4 a c}}{2 a} \\
& x=\frac{-b \pm \sqrt{b^{2}-4 a c}}{2 a} \\
& =x^{2}+2 x-3=0 \\
& \begin{array}{l}
a=1 \quad x=\frac{-2 \pm \sqrt{1(2)^{2}-4(1)(-3)}}{2(1)} \\
b=2
\end{array} \\
& c=-3 \quad x=\frac{-2 \pm \sqrt{4+12}}{2} \\
& =\frac{-2 \pm \sqrt{16}}{2} \\
& =\frac{-2 \pm 4}{2} \\
& \frac{-2+4}{2} \text { or } \frac{-2-4}{2}=\frac{-6}{2} \\
& \frac{2}{2}-1 \text { or }-3
\end{aligned}
$$

$$
\begin{aligned}
& \sqrt{3^{2}+5^{2}} \stackrel{?}{=} 3+5 \\
& \sqrt{9+25} \stackrel{?}{=} 8 \\
& \sqrt{34} \neq 8 \\
& \sqrt{(3+5)^{2}}=8
\end{aligned}
$$

$\square$

